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STAT101 Worksheet: SIGMA
(answer key at end of online version)
Summation Practice:

Let the variable X represent the numbers:
0   1   1   2   3

Let the variable Y represent the numbers:
2   3   5   7   11
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Summation Practice:

Let the variable X represent the numbers:
0   1   1   2   3

Let the variable Y represent the numbers:
2   3   5   7   11
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STAT101 Worksheet #13c Answer Key: SIGMA


Summation Practice:

Let the variable X represent the numbers: 
0   1   1   2   3

Let the variable Y represent the numbers:     
2   3   5   7   11
	X
	Y
	X2
	Y2
	XY

	0
	2
	0
	4
	0

	1
	3
	1
	9
	3

	1
	5
	1
	25
	5

	2
	7
	4
	49
	14

	3
	11
	9
	121
	33

	7
	28
	15
	208
	55

	X
	Y
	X2
	Y2
	XY
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                    = 35                                        = 113                                             = 43
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